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QUESTION 1

An operator able to check whether two values are equal, is coded as:
A ==

B. ===

C.is

D.=

Correct Answer: A

QUESTION 2
The following snippet:

def func(a, b):

return a *#% g

# print(func(2))

# TypeError: func() missing 1 required positional argument: 'b’

A. will output 4
B. will output 2
C. is erroneous
D. will return None

Correct Answer: C

QUESTION 3

What is the expected output of the following code?

nums = [1, 2, 3]
data = ('Peter',) * {(len(nums) - nums[::-1][@])
print(data)
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A. (\V'Peter\\', \\'Peter\\',)
B. PeterPeter
C. The code is erroneous.

D. (\\'Peter\\)

E.0

Correct Answer: E

QUESTION 4

What will be the output of the following code snippet?

3=
i
¥~y + 1
print{x)
A1l
B.4
C.2
D.3
E. None

Correct Answer: B

QUESTION 5

The \n digraph forces the print() function to:
A. duplicate the character next to the digraph
B. stop its execution

C. break the output line

D. output exactly two characters: \ and n

Correct Answer: C
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